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T1-84 PLus CE TECHNOLOGY TEACHER NOTES
Amortization Tables
Amortization is paying back a debt at regular Objectives:
time intervals with equal payments. o Determine the monthly payment for a home loan.
A table which indicates principal payments, e Create an amortization table for a loan.

interest payments, and the balance on a loan for
each time interval is called the amortization
table.

Calculator Housekeeping Detail

When the TVM Solver is used, a number of financial variables are set and available for use in other financial
calculations. The functions XInt(A,B), ZPrn(C,D), and bal(X) use the stored values PV, 1%, and PMT from the
TVM Solver.

2Int(A,B) calculates the sum of the interest from period A through period B. For example, XInt(l,12) calculates the
sum of the interest for the months 1 through 12.

XInt(2,2) would be the interest for the second period.

Other functions which operate in a similar manner include XPrn(C,D) and bal(X). £Prn(C,D) computes the sum of
the principal from period C through period D. The command bal(X) computes the balance for the amortization
table for period X.

Constructing an Amortization Table

Example 1:

You purchase a condominium for $200,000, pay 20% down, and mortgage the balance. You amortize your
debt with monthly payments for 30 years. What is your monthly payment if your interest rate for the loan is 7%
compounded monthly? Create an amortization table for this particular example.

Method 1: Using TABLES

1. Press and select Finance. Press to select TVM Solver from N=360. 00
the CALC menu. 17=7.00
PV=200000-0.2*200000
Note: The mode DECIMAL SETTING was changed to FIX2 to round FﬂTE@ég@
computations to two decimal places. p/;=i2_ [5]5]
Cr¥=12.00
2. Enter the values as shown. For PV, enter 200000 E] 0.2 200000. PMT:EIM BEGIM
This represents the amount of the loan, $200,000, minus the 20% down

payment.
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3. Move the cursor to PMT, and press [solve]_

The monthly payment is $1,064.48
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HORHAL FIHZ AUTO REAL DEGREE HP n

N=360.0808
1%=7.00
PY=160000. 080
"PMT=-1864.48
FV=0.00
PsY=12.00
Cr/¥=12.00
PMT : (=] BEGIN

Use of the TVM Solver has set variables that can be used by functions such as bal(X), ZInt(A,B), and XPrn(C,D).

Use the bal( command to find the balance after payments 1, 2, and 3.
4. Press [quit] to return to the home screen.

5. Press|apps], select Finance, and choose bal( from the CALC menu. This
will paste the bal( command on the home screen.

6. Enter 1, and press to find the balance after payment 1.

7. Arrow up to highlight the balance command. Press to paste the
command to the entry line. Change the payment number to 2, and press

[enter].

8. Repeat Step 7 to edit the payment number and compute the balance after
payment 3.

Creating the Tables

9. To create the tables, press the key. Use the key to remove any
functions left from another problem.
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YARS
1:TVM Solver..
2 tvm_Pmt
3rtvm_I¥
4:tvm_PY
Sitvm_N

G tvm_FY
7inpv(

Brirr(

EFbal(

HORHAL FIXZ AUTO REAL DEGREE HP n

bal(1)
e 20 2868 89
bal(2)
e 2D 2 A 36,94
bal(3)

....129604. 26

HORMAL FIXZ AUTO REAL DEGREE MP n

Flotli PFlot2 FPlotd
ENY1=
BNY 2=
BNY 3=
INY 4=
BNYs=
“Ye=
NY 7=
ENYa=
MY 9=
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10. Press , select Finance, and choose ZInt( to paste the interest function
in Y1.

11. Enter (X,76,n] [, ][X,56,n] )] [enter] to complete the function.

12. Store the principal balances in Y2. Move the cursor to Y2. Press ,
select Finance, and choose XPrn( from the CALC menu. Complete the
command as in Step 9 above.
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VARS
Ittvm_I%
4:tvm_PY
S:tvm-_N
G:tvm_FV
7inpv(
8:irr(
S:bal(
B:3ZPrn(
GREInt(
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Floti Flot: Flot2
INY1BZEInt (6. X))
BNY 2=
ENY 3=
BNYa=
INY 5=

“Ye=
INY 7=
EnYa=
INY 9=
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YARS
2Ttvm_Pmt
3rtvm-I®
4:tvm_PY
S:tvm-N
G:tvm_FV
7inpv(
8:irr(
S:bal(

EMEPrn(
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Flotl Plotz Flot3
ENY1BEInt (R %)
EINY 2B3Prn(x. X}
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13. Store the balance in Y3. Move the cursor to Y3. Press , select
Finance, and choose bal( from the CALC menu. Press (X,7,6,n][) ] [enter]
to complete the function.

14. Before viewing the table, set the start value and the increment by pressing
[tablset]. Set ThiStart to 1 and ATbl to 1.

15. Press [table] to view the table.

16. Press the down arrow key to see values for the different months in the
payment schedule.
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VARS
1:TVM Solwver..
2:tvm_Pmt
Jrtvm_I*
4:tvm_PY
S:tvm-_N
G:tvm_FV
7inpv(

8:irr(

EMbal (
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Floti Flot: Flot2
INY1BZEInt (6. X))
INY 2BEZPrnix, x)
INY3Bbal (X}
BNYa=
INY 5=

“Ye=
INY 7=
EnYa=
INY 9=

NORMAL FIXZ AUTO REAL DEGREE MP n

THBLE SETUP
TblStart=1
aTbl=1
Indent: Ask

Depend: Ask

NORMAL FIAZ AUTOD REAL DEGREE HP
FRESS + FOR &Thb1
Y1 Yz Y3
9337 | 1:l.2 | 159869
9326 | "131.9 | 159737
-831.8 | -132.7 | 159604
0310 | =133.5 | 159471
-830,3 | "134.2 | 159837
=029.% | =135.0 | 1592802
-828.7 | “135.8 | 159066
=027.9 | "136.6 | 158929
-827.1 | -137.4 | 158792
"026.% | "13B.2 | 158654
-azce | -138 | 1ESEIE
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Example 2:
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Find the payment needed each month for 1 year to pay off a debt of $1,000 at 12% compounded monthly. Show the
amortization schedule.

1.

Method 2: Using LISTS

Press and select Finance. Use the TVM Solver as in Method 1 to set
the variables for later use in the lists.

The payment per month is $88.85.

To go to the home screen, press [quit].
Press the key and choose SetUpEditor from the EDIT menu.

This will paste SetUpEditor on the home screen.

Enter [2nd] [L1] (] (2nd] [L2] (] (2nd] [L3] (. ] (2nd] [14] (] [2nd] [L5]
[enter].

The calculator will respond Done.

Press the key and choose ClrList from the EDIT menu.

This will paste the ClrList command on the home screen.
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N=12.08
I#=12.00
PY=1000.80
=PMT=-88.85
FV=0.00
PsY=12.00
Cr/¥=12.00
PMT : (=] BEGIN
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o)l CALC TESTS
1:Edit..
2:5ortA(
3:SortD(
4:ClrList
EHSetUrEditor

NORMAL FIXZ AUTO REAL DEGREE MP n

SetUrEditor Li.Lz.La.La.Ls
.....Bene,

HORHAL FIXZ2 AUTO REAL DEGREE HP n

CALC TESTS
1:Edit...
2:SortAC
3:SortD(
EHClrList
S5:SetUrEditor
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6. Enter [20d) [11] [ (20 [12] (] (20 [13] () (2 [14] (2] () 1.
feter.

The calculator will respond Done.

7. Pressthe key and choose Edit from the EDIT menu.

8. When the lists appear, move the cursor to the top of the column so that L1 is

highlighted and press .

9. Enter seq(A,A,1,12) for L1.

To access the seq( command, press [Iist], and arrow to the OPS
menu. Select seq(.

The syntax for the seq( command is shown. The default step value is 1.

Enter the expression, variable, start value, and end value. Arrow to Paste,

and press .

The sequence command will be displayed to the right of L1=.

Press enter| to enter the values in L1.
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ClrList Li.Lz.L3.La.L5s
.....Bene,

HORHAL FIHZ AUTO REAL DEGREE HP n

[Ty

La Lz Lz Lu Ls

Li=

————————

NORMAL FIXZ AUTO REAL DEGREE MP n

MAMES MATH
1:SortA(

Sdavesment {

HORHAL FIXZ AUTO REAL RADIAN HP n

seq)
Exepr:A

Variable:A
start:1
end:12
step!
Paste

Li=seq(H.H.1,12)
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10. Highlight L2 and press .
Enter seq(bal(B),B,1,12) in L2.

The bal( command is located in the CALC menu of the Finance App.

11. Highlight L3 and press .
Enter seq(ZInt(D,D),D,1,12) in L3.

The XInt( command is located in the CALC menu of the Finance App.

12. Highlight L4 and press .
13. Enter PMT —[2nd] [L3] in La.

The PMT variable can be found in the VARS menu of the Finance App.

L1 through L4 constitute the amortization table for this example.
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10.00
1168

Lz=seq(bal(B}.B.1.12)

L1 Lz Lu Ls
1.60 921.1%
2.00 BY1.51
.00 T61.08
Y.a0 B79.8Y4
E.b9 Eav.79
[N 1] L1y.92
700 43l.22
B.on 346.68
9,60 261.30
1@ 0@ 175.06
1106 | B7.96

10.00
11.68

Lz=seq(:Int{(D.D}¥.0.1.12)

A 4 =9.21
.00 T61.88 | -8.42
.00 679.8Y | *F.61
E.be E97.79 | -6.89
b.0@ £14.92 | 5.98
768 431.22 | -5.15
B.o@ 346.68 | "4.31
969 261.38 | -3.47
10.88 | 17586 | "2.61
1166 |&7.96 |-175

L1 Lz Lz Ls
1.60 82115 | 1880 | o | —mmmem
2.00 BY1.51 | =9.21
.00 T61.08 | -8.42
Y.a0 B679.8Y4 | ~7.61
E.b9 E97.79 | -6.89
[N 1] L1Yy.92 | ~5.98
700 431.22 | -5.15
B.on 346.68 | ~u.31
9,60 261.30 | -3.47
1@ 0@ 17586 | =261
1166 |E7.96 |-175

Ls=PMT-L 3z

Lad=-78, 848788678342
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